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10,000& * 249
JHEHIE AL R
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SA:
I—IiH:
E|-0|:

L RE-ERE O HAaS 0l & o e DS
-2t 270% * 2,500A 675
-Solgtss 1,630& = 300A 489
ORESLRYS ALY PSUARSE S
=2 1,200
-AFESE 3,000& * 200A 600
-HMS= 3,000& = 200A 600
OUSHRELRESHR &AM AISE
80& = 1,000 80
ogH+3 5,294
OUSRLREES 1IN RERS 4,014
-S| 1,900& * 1,500 2,850
-2t 270% * 2,500A 675
-Solgtss 1,630& = 300A 489
OUSHYEEs MEN ESUHLRSE S
=2 1,200
-UFESSE 3,000& * 200A 600
-HMS= 3,000& = 200A 600
OCLUERLELSSER I AMEZE
80& 1,000 80
oxdETE 3,446
QuUsSRYREszINN RUERS 2,766
= 1,900& = 1,000 1,900
-6t 270% * 2,000A 540
-Solgtss 1,630% * 200A 326
OUESRLEES MEN 2S¢ dRSE S
=2 600
-AREE 3,000& * 100A 300
-HHSSF 3,000& = 100A 300
OUERLEREYES U2 A AE=
80& 1,000 80
ollgldl 4,646,954 8,600,433 N3,953,479
801 0l HIHI 4,646,954 8,600,433 A3,953,479
1 BBl 4,646,954 8,600,433 A3,953,479
ooldlidl 4,646,954,000 4,646,954
WEFSMAA 2el(n & 3| A 8,776,400 6,406,811 2,369,589
= 630,000
Al 8,146,400
wnsHs AME=E S EX E |A2el 4,608,018 3,455,135 1,152,883
201 LBt A 2,183,702 1,399,795 753,907
01 At 2t 2,316 2,316 0
OULSEEHH A28 & A=K P 2,316
O=AIEH 260,000& * 1CH * 63 1,560
O=AMEX 21,0008 = 3g2fA » 123 756
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T - S9(21) - NRAY - BaS of &t e
S22l 2,151,386
=3 1,508, 152
OCLSHEHH(S323 % HA) 434,660

-HEtes 50,000& = 30 » 123 1,800
-JIes 7,700,000& * 12 92,400
NS HOI M8eH A ER
25,000% = 8803 » 123 264,000
Mot =2 SH2 800,000 * 13l 800
-8 AIBE 43,0008 = 404 = 123 2,064
-CCTv Sd22 Sz
2523 = 3,603m » 12& 10,896
-CCTv =3 AEZ
95,0002 = 5504 * 12 62,700
OuSUSHOUANAE FXE=H
31,000,000& » 12& 372,000
OustlsHA Jle2g 2l
28,334,000& * 12 340,008
OnEX2lHEAIAE(TCIS) KAl 234,500
-l FEE2 0/B KRAES
125,000& * 1,060km 132,500
S S SAHHEE D/B 7=
3,400,000& = 30km 102,000
Ousz At 724l
30,000,000 * 55CH = 2/100 33,000
Oussgas AL+
20,025,000 * 4481 = 4/100 35,244
OuSHEHH ALEHl =Xbl 3,280
-gt28&J1 12,000,0008 « 3CH = 8/100 2,880
-] 2,500,000& = 2CH = 8/100 400
OuUSHUSHOUAAY 2ats K22l
600,000& * 12 7,200
OuSSHOAIAE HANH =22
900,000& * 12 10,800
ORSUSHO HAX =4 U I} &S
2,567,520 * 88% 37,460

odg=d 163,584

Oustlss &JIe=
35,000& = 35304 » 123 148,260
Oustlss FLANEH =2 15,324
-ASHA I 48,7002 = 1860H 9,059
s EF 8,200& * 764= 6,265

OoMaET3 155,653

Oustlss &Jles
35,000% = 3310 » 123 139,020
ONSNES FUNMTY 442 16,633
—ASHO I 48,700& = 190CH 9,253
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A WSHI
M oMot Helst nsaEd A
ol DEMSRHUE Rol(REAY SEa) (el @e
SN B S9(S) - MRAE - A 0f &t e HIDEY
s s EF 8,200&  900= 7,380
osg+3¥ 188,553
Oustlss &L=
35,0003 * 3800HA » 123 159,600
OCuUSESS JLANEH =2 28,953
—ASHO I 48,7003 * 380UH 18,506
ss EF 8,200& * 1,274= 10,447
o¥d+3 135,444
Oustlss &JIe=s
35,0003 = 28604 » 123 120,120
OusStss JEANEH == 15,324
“ASHOI 48,7003 ~ 186UH 9,059
NS SEF 8,200& * 7642 6,265
206 M =l 60,000 18,550 41,450
01 XHZH 60,000 18,550 41,450
OuWSHMOI =X F& 60,000
OSLRO R-C AIZE(CPU)
45,100,000& = 10K 45,100
OZLSAEHI(SI0O BE)
4,000,000& * 204 8,000
O&Z MO A8 POWER SUPPLY
1,000,000& * 27H 2,000
OUAZ301dl0l HHE 2 4,900,000& » 104 4,900
401 A& HILLTHY] 2,394,316 2,036,790 357,526
01 Al &H] 2,385,700 2,031,600 354,100
o=3% 1,645,700
OtlssSE8F 258 sH2NE Y Al
EEX 45,000
NS S EF 120,000& * 300K 36,000
-Eis s EF 60,0003 150K 9,000
Otlss &X 360,000
-ASI(MAE) &R 50,000,000 » 6H 300,000
-2ESE) X 6,000,000& * 5H 30,000
-Z22sE) £ 2,500,000& * 1204 30,000
Cusdtszd 2UHE AL (N7 E)
5,000,000& * 4944 20,000
OFdNSS EXFX &1
300,000& * 400CH 120,000
ONR0IESTY S ()M A5S EX
SAt 5,600,000& * 25J4 2 140,000
O®: WSASHOI W
,000,000& ~* 16CH 144,000
Oustlss sl =2cl3At
10,000,000& * 5CH 50,000
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SN DEHHD
M OIFE) M2l NEHY AN
o9 RS

FA - ZH - (3H) - ARAY - BES Off &4
ORENE SLSAEHI(RC) SESA
200,000,0008 * 14} 200,000
OMSASHOD| 22t0l HEBA
1,500,008 * 674 9,000
OUET IPFL SHHAAE SXBA
22,000,008 * 1CH 22,000
OS2 HARIE HOAAH 24
15,700,0008 * 14} 15,700
OHHES LEDEYS NETA
1,000,008 * 10074 100,000
02T LEDEYS DHSA
1,700,000 * 100744 170,000
OREX2IHLAAE(TGIS) 4157 DB (P
AP ) 250,000,0008! * 14} 250,000
oagTy 185,000
OREHSS KN4 135,000
S 500,008 * 2,500% * 6% 75,000
~AISS EF 1,000,008 * 1,000 * 6% 60,000
ORSHSS =FAE Ha 50,000
- JYNSS BF DA
2,000,008 * 102 20,000
-oF 2YAMSS BF DA
50,0002 * 102 5,000
-=% @224 5,000,008 + 54 DIE 25,000
oMans 185,000
ORSHSS RN+ 135,000
SR 500,002 * 2,500% * 6% 75,000
-AISS EF 1,000,008 * 1,000 * 6% 60,000
ORSUSS =FAlE Ha 50,000
- JPUSS BF DA
2,000,008 * 108 20,000
-F PYNSS #F DA
50,0008 * 1022 5,000
-o® G224 5,000,008 * 54 DIE 25,000
CEEES 185,000
ORSHUEES R4 135,000
S 500,008 * 2,500E * 6% 75,000
-AISS EF 1,000,008 * 1,000 * 6% 60,000
ORSUSS =FAE Ha 50,000
- JYUSS BF DA
2,000,008 * 102 20,000
-o® BYMSS BF DA
50,0002 * 102 5,000
--F M224 5,000,008 * 5 DIE 25,000
oxaTy 185,000
ORSASS KN4 135,000
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A WSHI
A OHMGID Helst NEEd A
Hel: WSHSHAN 2el(RSMY SE3AH) (etel: &
SN B S9(S) - MRAE - A 0f &t e HIDEY
S S 500,000& * 2,500%& * 6% 75,000
-4lsS &#3 1,000,000& * 1,000= * 6% 60,000
Oustas =FAE e 50,000
-2 NS Ss #F WA
2,000,000& = 10= 20,000
e BHASS B@F DA
500,000& = 10= 5,000
- d224 5,000,0008 * 500 wXt= 25,000
03 Al& = 0HY 8,616 5,190 3,426
OLSHSAEE EXAY 2LUHI(2F)
1,653,200,000& = 0.36% 5,952
OULEASE “FAHE MHEAY 2UHI(2E) 2,664
odg+3 185,000,000 * 0.36% 666
OMExE 185,000,000& * 0.36% 666
og8+3 185,000,000& = 0.36% 666
OF=F Rt 185,000,000 * 0.36% 666
HAHEAAH(BIS)MY =T 2,381,999 2,626,607 A 244,608
201 LBt gl 912,733 791,022 121,711
01 AtS2telH 3,140 3,450 A310
OHAZEUH dd2822 FH 3,140
Oongt &Y 185,000& * 20§ * 43 1,480
O X=A E 260,000 * 104 = 3=l 780
OZAEEI EH 70,000& = 10H = 43 280
O=ALZ X 20,0002 = 3=tA « 102 600
02 3524t 909,593 787,572 122,021
OHAHEEANAY B232= & MAl 503,552
O TI0IEH 2 (08BE)
19,800 » 41701 * 12 99,080
OHAZECHUII(BIT) IS 113,400
-JIE 18,000€ = 50001 » 12 108,000
-4l 18,0002 = 5004 ~ 63 5,400
OHAZREHUII(BIT) S4RS 201,600
IS 32,0008 = 500CH 12 192,000
-8l 32,0002 = 5004 * 63 9,600
OHAHEdH 2SS4 0138 (20M)
2,200,000& 123 26,400
OH2dE~ZE dE3lH (128k)
1,856,000& = 123 22,272
O338=20I8= 1,000,000& = 123 12,000
OB AAIZE 2|0 SMS 018 =
150,000 * 16& » 12& 28,800
OHAEEANAY R+ 406,041
OHAZEHII(BIT) FRE= 259,915
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M oimoln BolE DEHH A
ol DERDAHE D2l (DEAY S=3H) (crol: m g
SH - FH - BASN) - HEAE - BES ol e+ ds B RS
o= 3,495,989, 1502 = % 209,760
DA 381,250,008 * 6% * 7/12 13,344
-AF(40E) 539,145,600 * 6% * 4/12 10,783
AF(SINE)  681,342,478% * G% * 5/12 7,034
MFHBINE) 299,767,008 * &% * 6/12 8,994
OXNHESHUI|(0BE) SAES 29,314
-J|& 482,968,000& * 6% 28,979
AF(BME)  13,380,8008 6% * 5/12 335
LAMSHEAD NP4 14,829
=J|I& 242,121,000& * 6% 14,528
_NF(SINE) 12,082,008 * G% * 5/12 201
ONAgI2ERY SXE- 33,108
RS 531,541,320& * 6% 31,893
AR (BHE) 48, 572,2909&l *x 6% * 5/12 1,215
Oogdoz)d A
193,468,002 * 6% 1,609
OHAZDOI AZES S24 SXa
15,000,000& * 1Al 15,000
OB ARSI HHOIHA il
25,4102 * 4810} 12,003
OV3 WINDOW Server 6.0 2,355,540& « 14! 2,356
OSEINN= LH SXEL
39,450,008 * 6% 2,367
OOracled|=Xd ¥ SN2
105,500, 00081 * 0.24 25,320
401 AlEHI L2 0HYI 1,469,266 1,835,585 A 366,319
T 1,485,000 1,829,000 364,000
OB AT HOHYII(BIT) BOHRE
15,000, 00020 * 3094 450,000
OB AT EOHYII(BIT) =20 H
14,000,000& * 7004 2 980,000
OB AT HOHYT|(BIT) O|H& X
3,000,0008 * 5J4 15,000
OB ASZE DMEITI(NC)AEIH HE&T 20,000
OSHENTNFC) AEI3
10,0002 * 1,700 4 7,000
OS2 & eI (NFC) 201E D]
1,000,000& * 1Al 1,000
OSHENT(NC) = 2 22l i
2,000,002 * 141 2,000
03 Al &S ThY 4,266 6,565 £2.319
OHIAREAIAE AZER Al&S0H)
1,185,000,000& * 0.36% 4,266
HE ZH NA 2O HARSAA(BIS) 2= 433,096 0 433,006
2 130,000

_33_




S A

MB: oiFslD Bels DEH A
¢ DNEASHAE 22 (DEAY SHSIH) (et @2
. - bSIE|
£ . (S H) - HRAIY - HES O] Ao ‘oﬂEOEH Hus2
Al 303,096
401 Al HIZ 201 433,096 0 433,096
= 130,000
Al 303,096
01 Al&H] 430,000 0 430,000
OHZ-ZE-MA ZA HAFBAIAL DEA
o 430,000,0002 * 14l 430,000
= 130,000
Al 300,000
03 Al& 2 HH 3,096 0 3,096
OHZ-ZH-XA ZA HAXNDAIAH DAL
A& 2] 430,000,0002 * 0.72% 3,096
HO DSR2 AIAE(ATMS) 2= 346,987 325,069 21,918
201 L2 A 346,987 173,989 172,998
02 2223 346,987 173,989 172,998
OFCINEZRANAEY 2222 L HA 207,312
OBCINEZRAIAL QHUE 2B EA
2t 0|2 2(20M) 2,200,0002 * 128 26,400
OB XI2(DSRC-RSE) S8R
40,0002 * 123) A * 122 59,040
OL I XI2(DSRCRSE) ®IIR2
20,0009 * 123004 * 12¢ 29,520
OXZHSTQIAET (AV]) SMRS
44,0002 * BIHA * 128 3,168
OX&HSTOIAIZT| (AV]) EI|Q
40,0009 * BIHA * 122 2,880
OSZ2FZIEXE(WS) SRS
44,0002 * 20004 * 12€ 10,560
OE2FEZTXB(WS)HI = 38,400
-2 X4l 120,000 * 1004 * 12€ 14,400
-CEAl 200,0002 * 10004 * 12¢ 24,000
Ot EAe2
43,0009 * 200 A * 129 10,320
OYG AR (WDS) SARS
44,0009 * 3HA * 122 1,584
OYAZXIER(VDS) IS
40,0002 * 3 A * 122 1,440
ONEXS YHOIEH SEAAAY HMH LU
2,000,0002 * 128 24,000
OBUNEZRIAAY SXES 139,675
OX&HS QIAIEX|(AV]) |2
132,425,73921 * 6% 7,946
OZZ2EZEX(WS)S X2 (1XFAIY)
372,991,937 * 6% 22,380
OS2HEZIXTH(WS) SX B2 (2XtAY)
389,798,852 * 6/122 * 6% 11,694
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SN RESFD
HE: orFGID Helst NS
ool NSFE

- - bSIE|
£ HzH . 2 (S H ) - HIEAIY - HAES 0ff A @55 Hus2
OZZ2 T EXIBH(WMS) SXI24=(30)
113,921,811 = 6/128 * 6% 3,418
O%HI|XI=2(DSRC-RSE) XL
325,645,506 * 6% 19,539
OL DI XI=(DSRC-RSE) S X E2=(2XtAIY)
395,918,9492 * 6/128 * 6% 11,878
OHIEGIERN RXLL
340,135,980 * 6% 20,409
OWESBIESRN |XI24=(2X)
37,180,320 * 6% * 6/12 1,116
OHEHUHERD X4 80,433,4009 * 6% 4,827
OHEHUHERD SXE2(2k)
8,041,598 * 6/12” * 6% 242
ODBMS X E 24 64,062,000 * 14.2% 9,097
OGISAUA X £ 20,286,300 * 6% 1,218
OHIOIAABAl 2K 2,701,0002 * 14! 2,701
OSNMSS K| £ 2 32,650,266 * 12% 3,919
OHAS/MN SN 13,524,000 * 6% 812
OdEsgIZzY I8
272,022,191 * 6% 16,322
ONVR S/W SXI24
11,958,480 = 6/12% » 6% 359
og=gsl |2 7,012,6532 * 6% 421
OGAZXEXI(VDS) SXI24=(2XHAIY)
45,899,879%1 * 6/12% * 6% 1,377
ANs8 WSAMAH(ITS) DAY 1,006,300 0 1,006,300
= 500,000
Al 506,300
401 Al HI L 20| 1,006,300 0 1,006,300
= 500,000
Al 506,300
01 Al&H] 1,000,000 0 1,000,000
OXsSE NEAAE(ITS) DTBALY
1,000, 000,000 1,000,000
=2 500,000
Al 500,000
03 Al& 2y 6,300 0 6,300
OXNSE WEAMAH(ITS) DALY AIL2TH
bl 1,000,000,0009 * 0.63% 6,300
HEeSS(DEHED) 2,317,185 2,589,976 A272,791
WEHHXS(REAMY EHFH) 2,317,185 2,585,611 N268,426
Al 2te] 29 2,317,185 2,585,611 N268,426
309 ME2 2,182,385 2,214,496 32,111
01 SAt- SHIAFEZ 2,182,385 2,214,496 A32, 111
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Al £ 0l &8 AF S H A A

A HEsLSH
M oFSUHSLS
ool HENSEdst & MUlA I (RsSAYE SE3IH) (chel: =@
= = & E
SA - SRA(SH) - NRAY - BES 0l e el imE+T
B/ EgmE=n; 2,165,365 930,851 1,234,514
csEns 2,114,060 930,851 1,183,209
HEswsadst L MElA (S AIY SE35IH) 2,114,060 930,851 1,183,209
thsns ol 8gds =8 90,352 132,234 N41,882
201 2| 42,592 41,474 1,118
01 At 22/l 41,032 41,474 N442
oszns0lE 8= 41,032
OAUBIA =& 2 AIZEEOHY &3S M
7,000& * 2,000& * 23] 28,000
oz=swsolgstl 82 M
500& * 6,000& 3,000
Olsuszgds g2 &+=% M&
80,000& = 304 2,400
CEANRZ 22 M 50,000& * 20& 1,000
OgAl2a ¥ FoAE AEIH M
800& * 4,145CH * 23] 6,632
02 2222l 1,560 0 1,560
O3gHA AlZtE & S&8& oHY sXi2el
130,000 * 123 1,560
301 LBt a3 9,760 27,760 A 18,000
09 HALAHIB&Z 7,760 7,760 0
otlsns & ZLIHRR =4l 7,200
Ogg sl 20,0002 = 20 « 128 4,800
Ounsite 8 XN&
10,000& = 209 = 123 2,400
otisns & 2UH 23|
7,000& * 20¥ * 43| 560
MIIEEAZ 2,000 20,000 A 18,000
OSEEAl 41 Za= 2,000,000 2,000
402 BI2H X201 38,000 60,000 A22,000
01 BIZF X EAIE 2 X 38,000 60,000 A22,000
QAL A LEDRE S X M&E X2l
8,000,000&  4& 32,000
OAlUHA SHAEMLX SHHEXEH 2=
15,0003 * 40074 6,000
Hsuns HoYAL &5 1,762,294 529,107 1,233,187
201 2| 9,392 3,500 5,892
02 2322l 9,392 3,500 5,892
odeg+3d 2,788
OBHEZS(ZESHARE )L R
6,000& * 373002 2,238
OHAFNMIEZ Y RXNES
550,000& * 14l 550
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SN HEDSH
M3 O=HENE
Ol IEDSEAHS L HHIA HH(DEAY SHEH) c
SN B S9(S) - MRAE - A 0f &t e HIDEY
PEEEE] 1,980
OZRE=(YESHALE)SH L=
6,000& = 330002 1,980
OMRETH 1,662
OBRS=(YXSHHARE )b
6,0008 * 277044 1,662
0s=7H 2,962
OZRS=(YXSHHARE)slH L=
6,0008 * 40204 £ 2,412
OEAFAMTRIY RAL4
550,000& * 14 550
401 Al EHIZ L HY] 1,746,902 525,607 1,221,295
01 Al&H| 1,734,584 522,032 1,212,552
o=3 103,300
OAMUHIA Fo-d S2& 20| YHED)
50,000 » 52802 26,400
OAMUHA ST AT L SHAIZE &
Hl 100,0009 * 54474 £ 54,400
OHAIRS EBEXE M=
900,000& * 25002 22,500
oagns 414,620
OAl SU& &X 20,000,000 * 1942 20,000
OHAISYE 22l
1,000,000 * 1J0HA 1,000
OAUHA SIMSZE 21 L DX
12,000,0008 * 16704 192,000
OAUHA 528 24 2 F|
250,000& * 30094 A& 75,000
OAlLIH A 22i0] ¥ Soes)| &X 22,400
~Al e 1,800,0008 * 844 14,400
-8 200,000& * 4000 2 8,000
OAlUHA S2E 3o 104,220
-SUE SEL(AUL)
20,0002 * 15404 * 23 6,160
-SUR SHA(SD)
30,0002 * 2190 * 23] 13, 140
-SUE BHEA(AIU)
4,00080 * 154044 * 443 27,104
~SURE UBHA(SH)
6,0002 * 21900 = 443] 57,816
OHADH 376,224
OHAISZE S22l
1,000,0008 * 1744 1,000
OAMUHA 2% 43 ¢ DA
12,000,000& * 1690 2 192,000
OALIHIA 523 24 2 |
250,0008 * 26474 2 66,000
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FA: HSWSH
g ocslisus
Hel: HEswSads & MUlA HE(RSAE SE3IH) (et &
SN B S9(S) - MRAE - A 0f &t e HIDEY
OAlUHA 2210l & StgsI| &3
1,800,000& = 8IH A 14,400
OAUIHA 22/0] & Sotes)| B4 o ¥
Bl 200,000 * 40014 8,000
OAlLiH A s28 A 94,824
-52E SEA(AL)
20,000& * 112904 * 23] 4,480
~SUT SHLA(SH)
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0H kJ oX

OH

= = & E
SA - SRA(SH) - NRAY - BES 0l e el imE+T
= 734,000
Il 43,832
& 75,600
Al 195,568
01 Al &l 962,011 650,000 312,011
© A4 St XA 962,011,000 962,011
= 734,000
I 43,832
S 75,600
Al 108,579
02 Zeldl 80,890 60,000 20,890
O A4 St=2t)H XA 80,890,000 80,890
03 Al 2 HHI 6,099 4,000 2,099
© A& Sttt XA 6,099,000 6,099
SO0EH ot=22 FHHIAEY 714,000 0 714,000
= 500,000
S 51,300
Al 162,700
401 Al EHIZ L 0H Y] 714,000 0 714,000
= 500,000
& 51,300
Al 162,700
01 A&t 650,000 0 650,000
O=0I1EH St==2t01 ZHIALZ 650,000,000 650,000
= 500,000
& 51,300
Al 98,700
02 Zeldl 60,000 0 60,000
OS=O0[1EH St FHIAIY Zeldl
60,000,000& 60,000
03 AIE 28I 4,000 0 4,000
O=O0I1EH St==2t01 ZHIALY Al =20l
4,000,000& 4,000
HERY XML 8,036,080 0 8,036,080
= 3,975,000
& 1,192,500
Al 2,868,580
201 er29gy| 1,440 0 1,440
02 2222l 1,440 0 1,440
OHIERE MZAE &=
20,000 » 64 + 128 1,440
401 Al EHIZ 2 0HY] 84,640 0 84,640
01 Al&HI 84,640 0 84,640
OHIBEMTAIE RAUEs & 2el
1,840,0002 * 4604 A 84,640
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FAN: SHHALZR ot=AIE N
o oD JHRE SEBe
SH9l: BTOIAE ALSE U 2Y(SEMH SEH) (e &2)
= = & E
A TSR (SIH) - HRAY - BAES Aok el HIRE2
403 MHXISHHSAH=01A 7,950,000 0 7,950,000
= 3,975,000
& 1,192,500
Al 2,782,500
02 SIS0 CHSHCH & AH B 7,950,000 0 7,950,000
OE st HIE ANE XA
7,950,000,000& 7,950,000
= 3,975,000
= 1,192,500
Al 2,782,500
NEZLHMeANE &= 2 SEAH 3,338,750 8,247,500 A4,908,750
= 2,671,000
I 118,973
Al 548,777
W==XI7 IS5 M2lAlE JHEAY 3,338,750 8,247,500 24,908,750
= 2,671,000
I 118,973
Al 548,777
401 Al EHIZ 2 0HY] 3,338,750 8,247,500 24,908,750
= 2,671,000
J| 118,973
Al 548,777
01 A& I 2,978,750 7,728,500 A4,749,750
OU=XT HESaXelAE LA
2,978,750,000& 2,978,750
= 2,671,000
J| 118,973
Al 188,777
02 Zeldl 360,000 500,000 A 140,000
OU=XT H=ESEXelAE HEAS
360,000,000& 360,000
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Al £ 0l &8 AF S H A A

A dEEANEE2R 1t
HE: M
Helr 4fEs7Y 2e(2d SE5) (et &
SN B S9(S) - MRAE - A 0f &t e HIDEY
g AEER g 163,725 112,018 51,707
Il 163,725
a2t 125,009 0 125,009
) 125,009
YrESRS AL (ENE SEIAH) 125,009 0 125,009
Il 125,009
a2 125,009 0 125,009
) 125,009
101 12 88,684 88,684
Jl 88,684
04 JIZNZ2NHESE+ 88,684 88,684
OUESH+AEBS A HAE B
44,6403 = 78 * 160 49,997
l 49,997
OQUESMAII+=HAIE 338 JIZH2IZ2 A
2= 44,640 = 138 = 52& 30,177
Jl 30, 177
OJIZH2Z2Xt 401 B = 8,510
OHLEE= 80, 174,000& = 2.995% 2,402
Jl 2,402
OINQLEE= 2,402,000 = 6.55% 158
Il 158
o=z 80,174,000 * 4.5% 3,608
) 3,608
OonEss 80,174,000& * 1.5% 1,203
) 1,203
OMHES 80,174,000& = 1.42% 1,139
Jl 1,139
201 YEr2 ) 22,281 0 22,281
Il 22,281
01 At 22l 12,542 0 12,542
OFAPE 2R= W=
220,000 * 18 = 23] 440
Il 440
Od+AES7Y ZAA HNP=s, gdet=
190,000& * 7& = 13 1,330
Il 1,330
O8EE =% M & &X
80,0002 = 203l 1,600
Il 1,600
otH=E 24| 50,000& = 7H 350
) 350
OH£=E MSSE 15,0002 = 774 105
2l 105
OUESAII+=HAE HII=XclIESHY|
6,625,000 6,625
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SN ALTAYRE HaD
M gL
Ol ASRES RN 2(SENM SBE) (9@
QA B SR(SH) - NTAY - B S 0f o e HIDE2
o 6,625
OESMYIIEIIAY 2IBE 2|
2,092,0002 2,092
I 2,092
02 ZZ2H| 9,739 0 9,739
Oxtz SXLI(10) 7,739
oL (52) 4,908,0002 + 1CH 4,908
p] 4,908
OXgREH 1,6852 * 14021Ef * 122 2,831
g 2,831
OXSTHAI 300,002 * 1CH * 23] 600
p] 600
ONENRE 600,002 * 1CH * 13 600
p] 600
oBANMSLS 40,0008 * 1CH * 23] 80
p] 80
ORUE 23 60,0002 * 1CH * 122 720
g 720
202 04t 3,600 0 3,600
p] 3,600
01 Lo 3,600 0 3,600
OM4+ASSPAZRI(1Y) 20,0002 * 1802 3,600
p] 3,600
204 X 243 2| 600 0 600
p] 600
03 SHYL A 600 0 600
O HSH (HAZE)
50,0009 * 19§ * 122 600
p] 600
401 AIZHIL ST 9,844 0 9,844
p] 9,844
01 Al&H] 9,844 0 9,844
OQNUEXE o NBSHH £X & 24
9,844,002 9,844
p] 9,844
HHLSYBL (ML TAYES HLT) 38,716 0 38,716
p] 38,716
ol (+EMHM SeslH) 38,716 0 38,716
p] 38,716
TEEE TR R ER T 38,716 0 38,716
p] 38,716
101 2124l 37,456 0 37,456
p] 37,456
02 JIEFR B4 37,456 0 37,456
OFYR(MLABSIAL) 37,456
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S A
X ZH -
= I

=L

o 2 0
1Y 0% 4
H0 HO H1

02 02 =

oY [°Q
PEM
it 0x L
5 o
M

el

)

i

el
=

4

£l

=

Jm
g
ton
=

2,053,5008 * 1% « 128 24,642
p] 24,642
O40f g 2,654
== 2,053,508 * 50% * 23 2,054
Il 2,054
~HDLYIIAS(59014)
50,0008 * 1% « 128 600
g 600
oMLY 960
tE4g 960
- B2 Xt 40,0003 = 1 = 128 480
Il 480
FDIEDHE 20,0008 * 2% * 122 480
p] 480
OS+Y22g 480
-MENSTYRLY (=)
40,0002 * 19! * 122 480
Il 480
OZXW24Y  7,6418 = 40AI2 » 128 3,668
g 3,668
OFMZ A 130,008 * 1% » 128 1,560
p] 1,560
O E S IH| 2,053,500& = 60% * 22l 2,465
Jl 2,465
OQIIF Al 2,053,5008 * 1/30 * 152 1,027
Il 1,027
B L 1,260
g 1,260
2 Mg 22| 1,260
CEEEES 105,0008 « 1% » 128 1,260
g 1,260
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Al £ 0l &8 AF S H A A

2AM X
M. 2

=2
- o -/
gel: HsiHsSS2el(nEAM

8l ) EERE
SN B S9(S) - MRAE - A 0f &t e HIDEY
ANHSEAE 702,781 669,959 32,822
VRS ANSSEAGLS 2Y 637,433 606,411 31,022
ANSHSE2e(nsEAY ELSH) 637,433 606,411 31,022
HESNHSEYRY 88 29 609,953 496,789 113,164
101 1A ] 210,319 107,171 103, 148
04 JIZtHZ2NHSE+ 210,319 107,171 103,148
02N+ % HEY g28x
44,6408 * 18 = 26& » 11 12,276
OXtE0ld Jaee
44,6403 * 4H » 262 113 49,104
OUHEF & MY MEHHe -2
44,6408 * 3 * 25& » 11 36,828
OFSHIAXNA E3E2X
44,6408 * 3 * 25¢ » 11 36,828
OSEASA At 2 JIIHA dUHEX
44,6408 * 18 = 25&  11E 12,276
OAEIINA & NEEL HAYHIX
44,6408 * 18 » 2562 » 11E 12,276
Oz 2 Y PIEAIA HMAHI X
44,6403 * 2 » 262 « 113 24,552
QIIZtHZZ2 A HE=IH|
200,000& * 159 = 23 6,000
OJIZtMZ22 X 4THEE D22 H= 20,179
OHEEE= 190, 140,000& * 2.995% 5,695
OFINQLEE= 5,695,000& * 6.55% 374
Oo=gc3 190, 140,000& * 4.5% 8,557
OnE:=s 190, 140,000& = 1.5% 2,853
Ot HES 190, 140,000& = 1.42% 2,700
201 ¢et2 4] 330,953 296,530 34,423
01 At22telH 100,330 125,612 N25,282
OXYSE d3d=3dHl 100,330
Od L& A2F F¢ 11,756
-0l el &Y
220,000& » 20CH = 12 4,400
-OXNMES ZEH Y
500,000& * 10§ = 3=l 1,500
“HAEY 70,0002 = 50 » 23] 700
-SAI EY 260,000& * 3CH * 3= 2,340
-18J| EE 528,000& * 2&f Xt 1,056
—MESSAI Z2E X 110,000& * 104Xt 1,100
-ENEEE dSJIE4 33,0008 + 2004 660
og=id === 5,420
-d3x A 400,000& * 13 400
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A HPSEAL
U DUSY GLSSTALL 29
o9 HSASSBRAI(LSAMY SLaH) EERED
SN BB SR(EH) - NRAY - B 0 &k o8 e HlRE2
“AEOH (f#44E 200,008 + 123 2.400
ElHE B (H#S4R
110,000& = 122 1,320
SHAHS 2AHA 242
1,300,002 * 18] 1,300
OXNSIYABSE HE 7,002 * 400F 2,800
ONSIUPATZ Y B oHj Baot
70,000& * 402 « 43] 1,120
OAMIIHESAF BI615 86,0008 * 50004 4,000
OXSHB2lE MXTY 80,0008 * 5 400
ONSIASTHE HAl ol 36,590
AT B 0RSSUE AN 95
3.5002 * 502 « 9% * 23] 3,150
“HEY 23 NEN 25
3,500& * 50 * 28 x 23] 700
XY, A, AL H OSSR 175
3.5002 * 102 * 175 * 23l 1,190
TSR O L DEHR DDA 5
= 80,0002 * 241Xt + 55 * 23] 1,600
—o|REE oY 2 BEHE RADXN 55
80,0008 * 24X * 55 * 23] 1,600
-NSXHLESHEA 353 * 20,0000 * 22 1,400
-NSHSES 703 * 20,0000H * 22| 2,800
-UASIUHSSEHR 40 = 20,00004 * 33l 2,400
—SEHSHRY MAHRAZI o2
250,002 * 241X} * 23l 1,000
SEURY TSR oS
250,000& * 3&At « 13 750
“FHSHAUDEES XA
80,0002 * 1504t 12,000
~+ A2 80,0002 * 504Xt 4,000
-=SF10XNA 80,000 = 50&f Xt 4,000
OYULBHIEHE MR SSULYRES S
ol 448 3.600
-YFSE == 3,000& = 6004 1,800
-YFHM == 3,000& * 600A 1,800
OBIIFHI| L Y2FH)| SN2
48,7002 * 504 » 12 2,922
O&X<® MALl 15,5004 » 778 * 123 14,322
OFTUZYBAAY 018442
1,450,000 * 128 17,400
02 222 230,623 70,918 59,705
03322 % HAl 202,214
O2u3 176,436
-S2) 1,900 * 5,000 * 128 114,000
- et 27034 = 15,000 * 128 48,600
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SN HBSEAYAL
HE: DUZN HPESAAL 29
ool HEAHSS2R(REAY SHEN)

SN B SRAEA) - MRAR - BES of &t e
-Solgtss 1,630 * 600 * 123 11,736
-Hesd 3,500& * 508 » 123 2,100

(OFSPIEeE=, 1,200,000& = 12 14,400
Odstea 50,000& = 50 » 123 3,000
Of8edsrtlas 30,000 » 123 360
ONEXE HHIXNLRE SR
55,000& = 10H » 123 660
OIS 282 35,0008 » 128 420
Odlot=ER= 185,000& * 12 2,220
(OF= 2P FaE == 70,0008 * 22| 140
OusSRERYS 200,000& * 12/ 200
Oagotdgalyl 48,0002 = 12 48
O3AAANZ R WELESEE It
100,000& = 3& 300
Oozsxte MAMsU= 1,150
-SEEE (58 350,000& = 1CH 350
-ESEEE(ss) 650,000 * 1CH 650
-XtS XAl 150,000& * 12l 150
OXtSx2eld, ZHHERABIUEHE T It
HE MER 80& = 3,000 » 123 2,880
O¢ =4l 1,880
opga g 1,880
28
1,305% * 24 » 8AIZ2t = 104 » 90 1,880
OAI € EHI R XY 17,322
OZ=H 1,500,000 * 51CH * 6% 4,590
OEISNS 750,000 * 39CH * 6% 1,755
O&X= A 3,700,000& = 3CH * 6% 666
OXI=p) 1,265,000 * 6CH * 6% 456
OZAE S| 1,500,000& = 5CH * 6% 450
OE A A 1,500,000 = 2CH * 6% 180
OWDXAN =58 ZelH
8,000,000& = 1CH * 6% 480
O=ME &I 6,600,000 * 1CH * 6% 396
OHgsEHEHT] 2,200,000 = 1CH * 6% 132
Os#E= s&JI 5,850,000& * 1CH * 6% 351
O dtd) 3,700,000& = OCH * 6% 1,998
OREgNESR2CIANLE RAE>
97,5002 = 123 1,170
OXAXNZeEZ2 ) A2+
9,000,000& = 1Al = 6/100 540
OHSHIXANAE 22+
4,158,000 * 14| 4,158
OxgH eyl 9,207
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SN
X ZH -
o=

=L

= - AN L=
SN BB SR(EH) - NRAY - B 0 &k o8 e HlRE2
OZEXNT RAH] 9,207
-8 4,908,0008 * 104 4,908
-st= 4,299,000& ~ 104 4,299
202 01t 12,240 2,040 10,200
02 B 201t 12,240 2,040 10,200
OAEIIA FI| AP & BHOHY|
170,000& = 1& « 123 2,040
OSHAHAE AT2A 20
70,0008 * 53 = 122 10,200
207 1IN bl 19,000 30,000 A11,000
02 & 4&HH I 19,000 30,000 A 11,000
ONENR T X FYBALY 7=
19,000,002 * 14} 19,000
301 YBHBAD 14,941 18,798 £3,857
0B AMEI=SRREEAS 14,941 18,798 23,857
OXNSXHSE &g 2X 14,941
OzZY22RR 243 14,541
e kals 171,400& = 32 « 123 6,171
-S| 7,0008 » 3% * 252 « 128 6,300
-DEH) 2,308 * 3% * 252 « 122 2,070
OzZA22ed I=Y| 400
=28= 60,000& * 2& » 2H 240
~grets 80,0002 * 15 * 2% 160
405 THeHE S b 22,500 42,250 219,750
01 ML =ESF=HI 22,500 42,250 219,750
OHTIAMNREE HHIFY 20,600
OZEE 1,400,00020 * 10CH 14,000
0201 K =2/ 60,0002 * 10CH 6,000
OFAX 600,000& * 1CH 600
CIEEEEE 950,000 * 2CH 1,900
OFGHD HEE FHAZE 27,480 109,622 ~82,142
307 BI2¢0I & 27,480 102,972 AT5,492
05 BIZtRAE S 27,480 102,972 AT5,492
OSAFHIAIAY 9It gt
190,0002! * 12% 2,280
OXNTSSAMYL HA (Y
2,100,000& = 1H » 128 25,200
HE LA (HHSEAIE L) 65,348 63,548 1,800
|2 ZH(DEAY SE3H) 65,348 63,548 1,800
o=l 65,348 63,548 1,800
201 2er2et) 31,868 27,908 3,960
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AEHSEAE A
HY 2L (MHHSSA L)
J2ZH(REAY SE3IH) (&3 )

= = & E
M. SR (S1H) - HRAY - BAS Aok el HIRE2
01 At 22/l 31,868 27,908 3,960
OJ|2gR#E=ZHI(OIE2])
13,220,000& 13,220
OSEHI(IEEHl) 18,648,000& 18,648
202 044l 33,480 35,640 22,160
01 =LHOYI 33,480 35,640 A2,160
33,480,000& 33,480

O=2UAdI(DIE=Z4l)

_62_



